[Effici

ency vs vertpos |

- 05
20.45

g
2 04

(8]
§0.35
Q
£ 03

Efficiend

~ 0.5
20.45
n

> 04
>

2
$0.35
0.3

0.25]
0.2

0.15

ettici

0.1

0.05
Vel

107 1 2

10 0
TP vertr (cr%)

—=— DQM_mKFit_TT_retrain

—— DQM_mkFit_TTold

................................................

......

...................

Ratio

[y

9535

10

20

30

TP vert z (cm)

[Effici

ency vs.sim PV z |

N 05
>

8.0.45
0.4
20.35

£
n

.................................................

.................................................

o J..UG
=
@
14
i EREEEEREEE i
B HE S

-+

09557215 -10

Sim. PV z (cm)



	Contents
	Page 1


